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1. (20%) Solve the initial value problem ydx+(x+2y)dy=0; y(0)=1.

2. (20%) Solve the initial value problem %— ycoshx; y(0)=1.

X

3. (20%) Solve 2xydx+(1+x*)dy =0, by using the method of Exact differential
equations.

4. (20%) Find the general solution of y”+3y'+2y =6e", by using the method of
inverse differential operators.

5. (20%) Solve the initial value problem y"+4y'+3y=245(t); y(0)=0,

y'(0)=0 where unit impulse function &(t)=lim B _Joo,t=0" by
e ¢ 0,t=0""

using the method of Laplace transformation.



